43630 43950

43631

43951

&Roce-| Original ROCO-Ersatzteile

8| Art-Nr Text E&
1| 85073 | Motor DCm, Schwungscheibe | 99
Motor DC with fly whee!
2| 85602 | Haftring,s=05mm 9
Traction tyre, s=0,5mm
3| 85612 | Haftring,s=03mm 29
Traction tyre, s =0,.3mm
4| 85671 | Schraube,M2x5 2
Screw, M2x5
5| 85704 | Schraube,M2x2,8 3
Screw, M2x2,8
6| 85799 | Schraube,2,2x9,5 2
Screw 2,2x9,5
7| 86202 | Federf.Nr.B5704 2
Spring f. No. 85704
8| 86205 | Feder 2
Spring
9| 86416 | ZahnradZ=19/14;m04 2
GearT=19/14;m04
10| 86418 | ZahnradZ=17;m04 2
GearT=17;m04
11| 86425 | ZahnradZ=23;geradem04 2
Gear T=23; straight m0,4
12| B6703 | Schnecke 4
Worm
13| B6858 | Schneckensatzkpl. 24
Worm set assembly
14| 87065 | Kardanschale, kurz 3
Cardan bearing, short
15| 87119 | Kardanschalef. Schwungscheibe | 3
Cardan bearing . fly whee!
16| 87122 | Kardanwelle 2
Cardan shaft
17| 87738 | Platine, DC 40
Printed circuit, DC
18| 89711 | Umschaltkontakt 6
. Switch contact
19| 89714 | Schaltbolzen 6
Switch pin
20| 89918 | Radkontakt 5
Wheel curent contact strip
21| 90484 | Radsatzm.Haftring, DC 16
Wheelset w. traction tyre, DC
22| 90485 | Radsatz,DC 16
Wheslset, DC
23| 95663 | Getriebeboden 10
Gearbottom
24| 95664 | Blende1kpl, DC 25
95665 | Blende2kpl., DC 24 [
Bogie frame 2 assembly, DC — @
95670 | Getriebe kpl. 39 |
Gear assembly -—
27| 95671 | Schneckenhalter 2 )
Worm retainer
28| 95698 | Zuristbeutel 24
29 | 40003 | Schischieifer 99 I—‘@
Coliector shoe
30 | 85043 | Motor ACm. Schwungschaibe | 99
Mator AC with fly whes!
31| 87740 | Platine, AC 40 4
Printed circuit, AC !
32 | 89888 | Umschaltmodul 99 2%
Electr. direct. of motion switch
33 | 89891 | DrosselNr.11.89888 8 ' !
Electr. part No. 11, 89888
34 | 20503 | Radsatzm.2 Haftringen 18
Wheelset w. 2 raction tyres % %%b
35 | 90504 | Radsatz, AC 16
Whesiset, AC 2x J ! |i!
36 | 95687 | Schieiferhalter 5
Collactor retainer m* _® | i'
37 | 95688 | Modulhalter 4 {
Module retainer
38 | 95689 |Blende1kpl, AC 28
Bogie frame 1 assy., AC J ! ‘i!
39 | 95690 |Blende2kpl. AC 24
Bogie frame 2 assy., AC {j % ( %
L]
Ll'u 3
Blatt 244/2

Page 244/2




